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1. 74 —TA4—V ATV

W1 — IR FO1Sql 2.1 1.4 0.7 1.8 -03 -0.9 -15
FO1Sq2 2.1 1.4 0.7 2.6 -0.7 -14 -1.9
FO1Sq3 2.1 1.4 0.7 3.3 -0.7 -1.4 -2.0
FO1Sg4 2.1 1.4 0.7 4.1 -0.7 -14 -21

WIS — IR FO2Sql 25 17 0.8 2.0 -05 -11 -17
FO25q2 2.5 17 0.8 2.9 -0.8 -17 -22
FO25q3 2.5 17 0.8 3.7 -0.8 -17 -24
FO2S5q4 2.5 1.7 0.8 4.6 -0.8 -1.7 -25

BIV—Tx R FO3Sql 2.9 1.9 1.0 2.2 -0.7 -1.3 -1.9
FO3Sq2 2.9 1.9 1.0 3.1 -1.0 -1.9 -23
FO35q3 2.9 1.9 1.0 4.1 -1.0 -1.9 -28
FO3Sq4 2.9 1.9 1.0 5.0 -1.0 -1.9 -2.9

T4 —Tx R FO4Sq1l 33 2.2 1.1 2.4 -0.9 -15 -21
FO4Sq2 3.3 2.2 11 3.4 -11 -22 -26
FO45q3 3.3 2.2 11 4.5 -11 -22 -31
FO4Sqg4 3.3 2.2 11 5.5 -1.1 -22 -33

2. 7%y 7 AbaYh

BL1Y—TxR FT1Sql 2.1 1.4 0.7 1.8 -0.3 -0.9 -15
FT1Sq2 2.1 1.4 0.7 2.6 -0.7 -1.4 -1.9
FT1Sq3 2.1 1.4 0.7 3.3 -0.7 -1.4 -2.0
FT1Sg4 2.1 1.4 0.7 4.1 -0.7 -1.4 -2.1

FT2L—TxR FT2Sql 25 1.7 0.8 2.0 -0.5 -1.1 -1.7
FT2Sq2 25 1.7 0.8 2.9 -0.8 -1.7 -2.2
FT2S93 25 1.7 0.8 3.7 -0.8 -1.7 -24
FT2Sq4 25 1.7 0.8 4.6 -0.8 -1.7 -25

HIV—TxR FT3Sql 2.9 1.9 1.0 2.2 -0.7 -1.3 -1.9
FT3Sq2 2.9 1.9 1.0 3.1 -1.0 -1.9 -2.3
FT3Sq3 2.9 1.9 1.0 4.1 -1.0 -1.9 -2.8
FT3Sq4 2.9 1.9 1.0 5.0 -1.0 -1.9 -2.9

TA—TUR FT4Sql 3.3 2.2 1.1 2.4 -0.9 -1.5 -2.1
FT4Sq2 3.3 2.2 1.1 3.4 -1.1 -2.2 -2.6
FT4Sq3 3.3 2.2 1.1 45 -1.1 -2.2 -3.1
FT4Sq4 3.3 2.2 1.1 5.5 -1.1 -2.2 -3.3




+3 +2 +1 | EmE [ 1 -2 -3
3. uvH—TFv I APV h
BL1Y—TxR RF1Sql 2.1 1.4 0.7 1.8 -0.3 -0.9 -15
RF1Sq2 2.1 1.4 0.7 2.6 -0.7 -1.4 -1.9
RF1Sg3 2.1 1.4 0.7 3.3 -0.7 -1.4 -2.0
RF1Sq4 2.1 1.4 0.7 41 -0.7 -1.4 -2.1
FT2L—TxR RF2Sql 2.5 1.7 0.8 2.0 -0.5 -1.1 -1.7
RF2Sq2 2.5 1.7 0.8 2.9 -0.8 -1.7 -2.2
RF25g3 2.5 1.7 0.8 37 -0.8 -1.7 -2.4
RF2Sq4 2.5 1.7 0.8 4.6 -0.8 -1.7 -25
HEIV—TxR RF3Sqg1l 2.9 1.9 1.0 2.2 -0.7 -1.3 -1.9
RF3Sq2 2.9 1.9 1.0 3.1 -1.0 -1.9 -2.3
RF3Sg3 2.9 1.9 1.0 41 -1.0 -1.9 -2.8
RF3Sq4 2.9 1.9 1.0 5.0 -1.0 -1.9 -2.9
BTAY—Tx R RF4Sql 3.3 2.2 1.1 2.4 -0.9 -15 -2.1
RF4Sq2 3.3 2.2 1.1 3.4 -1.1 -2.2 -2.6
RF4Sg3 3.3 2.2 1.1 45 -1.1 -2.2 -3.1
RF4Sq4 3.3 2.2 1.1 5.5 -1.1 -2.2 -3.3
4, 9—uave’ 7y U
W1 — IR EW1Sq1l 4.2 2.8 1.4 3.6 -0.6 -18 -3.0
EW1Sq2 4.2 2.8 1.4 5.1 -14 -28 -3.6
EW1Sq3 4.2 2.8 1.4 6.7 -1.4 -2.8 -4.1
EW1Sq4 4.2 2.8 1.4 8.2 -1.4 -2.8 -4.2
T2y —Ix A EW2Sql 6.6 4.4 2.2 48 -1.8 -3.0 -4.2
EW2Sq2 6.6 4.4 2.2 6.9 2.2 -4.4 -5.4
EW25q3 6.6 4.4 2.2 8.9 2.2 4.4 -6.2
EW2Sq4 6.6 4.4 2.2 11.0 2.2 4.4 -6.6
5.7 AV 9N
FTBL1Y—Tx R AW1Sq1 4.2 2.8 1.4 3.6 -0.6 -1.8 -3.0
AW1S0g2 4.2 2.8 1.4 5.1 -1.4 -2.8 -3.6
AW1S03 4.2 2.8 1.4 6.7 -1.4 -2.8 -4.1
AW1Sqg4 4.2 2.8 1.4 8.2 -1.4 -2.8 -4.2
T2 —Tx R AW25Sq1 6.6 4.4 2.2 4.8 -1.8 -3.0 -4.2
AW?2502 6.6 4.4 2.2 6.9 -2.2 -4.4 -5.4
AW?2503 6.6 4.4 2.2 8.9 -2.2 -4.4 -6.2
AW?2Sg4 6.6 4.4 2.2 11.0 -2.2 -4.4 -6.6
9. AFZ—FA KNIV
FTB1—IxR SW1Sqg1Sel 2.1 1.4 0.7 1.8 -0.3 -0.9 -15
1 eriay SW1Sq1Se2 2.1 1.4 0.7 2.6 -0.7 -1.4 -1.9
SW1Sq1Se3 2.1 1.4 0.7 3.3 -0.7 -1.4 -2.0
SW1Sq1Se4 2.1 1.4 0.7 41 -0.7 -1.4 -2.1
FTB1—IxR SW1Sg2Sel 2.5 1.7 0.8 2.0 -0.5 -1.1 -1.7
o wriay SW1Sg2Se2 2.5 1.7 0.8 2.9 -0.8 -1.7 -2.2
SW1Sg2Se3 2.5 1.7 0.8 37 -0.8 -1.7 -2.4
SW1Sg2Se4 2.5 1.7 0.8 46 -0.8 -1.7 -25
FE2y—IxR SW2Sq1Sel 2.9 1.9 1.0 2.2 -0.7 -1.3 -1.9
1 eriay SW2Sq1Se2 2.9 1.9 1.0 3.1 -1.0 -1.9 -2.3
SW2Sq1Se3 2.9 1.9 1.0 4.1 -1.0 -1.9 -2.8
SW2Sq1Se4 2.9 1.9 1.0 5.0 -1.0 -1.9 -2.9
FEoL—Ix R SW2Sg2Sel 3.3 2.2 1.1 2.4 -0.9 -15 -2.1
- WAV SW2Sg2Se2 3.3 2.2 1.1 3.4 -1.1 -2.2 -2.6
SW2Sg2Se3 3.3 2.2 1.1 45 -1.1 -2.2 -3.1
SW2Sg2Se4 3.3 2.2 1.1 5.5 -1.1 -2.2 -3.3




+3 +2 +1 | e [ 1 [ -2 -3
12. XV~
BL1Y—TxR K11Sql 1.4 1.0 0.5 1.2 -0.2 -0.6 -1.0
K11Sqg2 1.4 1.0 0.5 1.7 -0.5 -1.0 -1.2
K11Sqg3 1.4 1.0 0.5 2.2 -0.5 -1.0 -1.4
K11Sq4 1.4 1.0 0.5 2.7 -0.5 -1.0 -1.4
FT2L—TxR K12Sqg1l 1.5 1.1 0.5 1.2 -0.2 -0.6 -1.0
K125q2 1.5 1.1 0.5 1.8 -0.5 -1.1 -1.3
K12Sqg3 1.5 1.1 0.5 2.4 -0.5 -1.1 -15
K12Sq4 1.5 1.1 0.5 2.9 -0.5 -1.1 -15
HEIV—TxR K13Sql 1.7 1.2 0.6 1.4 -0.4 -0.8 -1.2
K13Sqg2 1.7 1.2 0.6 1.9 -0.6 -1.2 -1.4
K13Sqg3 1.7 1.2 0.6 2.6 -0.6 -1.2 -1.7
K13Sq4 1.7 1.2 0.6 3.1 -0.6 -1.2 -1.7
BTAY—Tx R K14Sql 1.9 1.2 0.6 1.4 -0.4 -0.8 -1.2
K14Sqg2 1.9 1.2 0.6 2.1 -0.6 -1.2 -1.6
K14Sqg3 1.9 1.2 0.6 2.6 -0.6 -1.2 -1.7
K14Sq4 1.9 1.2 0.6 3.3 -0.6 -1.2 -1.9
HBEY—TxR K15Sq1 2.1 1.3 0.7 1.6 -0.6 -1.0 -1.4
K15Sg2 2.1 1.3 0.7 2.2 -0.7 -1.3 -1.7
K15Sg3 2.1 1.3 0.7 2.8 -0.7 -1.3 -1.9
K15Sg4 2.1 1.3 0.7 35 -0.7 -1.3 -2.1
FE6—TxR K16Sq1 2.2 1.4 0.7 1.6 -0.6 -1.0 -1.4
K16S02 2.2 1.4 0.7 2.3 -0.7 -1.4 -1.8
K16S93 2.2 1.4 0.7 3.0 -0.7 -1.4 -2.1
K16Sg4 2.2 1.4 0.7 3.7 -0.7 -1.4 -2.2
20. #o=2
W1 — IR TA1Sq1 4.2 2.8 1.4 3.6 -0.6 -1.8 -3.0
TA1Sq2 4.2 2.8 14 5.1 -1.4 -2.8 -36
TA1S93 4.2 2.8 1.4 6.7 -1.4 -2.8 -4.1
TA1Sq4 4.2 2.8 1.4 8.2 -1.4 -2.8 -4.2
T2y —Ix A TA2Sq1 6.6 4.4 2.2 48 -18 -3.0 -4.2
TA25q2 6.6 4.4 2.2 6.9 -2.2 -4.4 -5.4
TA25q3 6.6 4.4 2.2 8.9 -2.2 -4.4 -6.2
TA25q4 6.6 4.4 2.2 11.0 22 -4.4 -6.6
23. TV —A
FT1Y—IxR BL1Sql 2.8 1.9 1.0 2.4 -0.4 -1.2 -2.0
BL1Sqg2 2.8 1.9 1.0 3.4 -1.0 -1.9 -2.4
BL1Sq3 2.8 1.9 1.0 4.4 -1.0 -1.9 -2.7
BL1Sqg4 2.8 1.9 1.0 5.5 -1.0 -1.9 -2.8
FE2y—IxR BL2Sql 3.6 2.4 1.2 2.8 -0.8 -1.6 -2.4
BL2Sq2 3.6 2.4 1.2 4.0 -1.2 -2.4 -3.0
BL2Sq3 3.6 2.4 1.2 5.2 -1.2 -2.4 -3.4
BL2Sqg4 3.6 2.4 1.2 6.4 -1.2 -2.4 -3.6
FEIV—TxR BL3Sql 4.4 2.9 1.4 3.2 -1.2 -2.0 -2.8
BL3Sq2 4.4 2.9 1.4 46 -1.4 -2.9 -3.6
BL3Sq3 4.4 2.9 1.4 6.0 -1.4 -2.9 -4.2
BL3Sqg4 4.4 2.9 1.4 7.3 -1.4 -2.9 -4.4




2. WRE— B ADMERE (F—RA ML)

| +3 | +2 +1 | HEpE | -1 -2 -3
1. 74T A=V ATV
W1 —Tx R FO1Sq 2.1 1.4 0.7 3.3 -0.7 -1.4 =21
W2 — xR FO2Sq 2.5 1.7 0.8 3.7 -0.8 -17 -25
®IL—Ix R FO3Sq 2.9 1.9 1.0 4.1 -1.0 -1.9 -2.9
WA — TR FO4Sq 3.3 2.2 1.1 45 -11 =22 -3.3
2. 7 A7 Akayk
1 —Jxrl R FT1Sq 2.1 1.4 0.7 3.3 -0.7 -1.4 =21
I — IR FT2Sq 2.5 1.7 0.8 3.7 -0.8 -17 -25
B3I —JxL R FT3Sq 2.9 1.9 1.0 4.1 -1.0 -19 -29
AL —JrL R FT4Sq 3.3 2.2 1.1 45 -11 =22 -3.3
3. v h—TF 7 AEYh
1 —Jx R RF1Sq 2.1 1.4 0.7 3.3 -0.7 -1.4 -2.1
B2 —Jx R RF2Sq 2.5 1.7 0.8 3.7 -0.8 -17 -25
B3I —TrL R RF3Sq 2.9 1.9 1.0 4.1 -1.0 -1.9 -2.9
WA — TR RF4Sq 3.3 2.2 1.1 45 -11 =22 -3.3
4, 3—uar’ 7 U
1L —Jxrl R EW1Sq 4.2 2.8 1.4 6.7 -14 -28 -4.2
I — IR EW2Sq 6.6 4.4 2.2 8.9 =22 -4.4 -6.6
5. 7 AL OV
1 —Jx R AW1Sq 4.2 2.8 1.4 6.7 -1.4 -238 -4.2
B2 —Jx R AW2Sq 6.6 4.4 2.2 8.9 =22 -4.4 -6.6
6. VT ARI=AHX—T )L
1y —rc R 1¥siar | WW1Sqlse 2.1 1.4 0.7 3.3 -0.7 -1.4 =21
1y —rx R 2w ar | WW1Sg2Se 2.5 1.7 0.8 3.7 -0.8 -17 -25
2y —rx R 1¥siar | WW2SglSe 2.9 1.9 1.0 4.1 -1.0 -19 =29
2L —rx R 2w ar | WW2Sg2Se 3.3 2.2 1.1 45 -11 =22 -3.3
7.4 F =0
®1L—Jxrl R VW1Sq 2.8 1.9 1.0 4.4 -1.0 -19 -28
I — IR VW2Sq 3.6 2.4 1.2 5.2 -12 =24 -36
B3I —JrL R VW3Sq 4.4 2.9 1.4 6.0 -1.4 -29 -4.4
8. A—ANIT L UNY
81y —rx A5 17 ar | OW1SqlSe 2.1 1.4 0.7 3.3 -0.7 -1.4 =21
81y —rx R 227 a | OW1Sg2Se 2.5 1.7 0.8 3.7 -0.8 -17 -25
82y —rx R 17 ar | OW2SqlSe 2.9 1.9 1.0 4.1 -1.0 -1.9 -2.9
82y —ox R 2w a | OW2Sg2Se 3.3 2.2 1.1 45 -11 =22 -3.3
9. RF—JA NIV
81y —rx R 1 var | SW1SqlSe 2.1 1.4 0.7 3.3 -0.7 -1.4 =21
81y —rx R 2k ar | SW1Sg2Se 2.5 1.7 0.8 3.7 -0.8 -17 -25
2y —rx R 1w ar | SW25qlSe 2.9 1.9 1.0 4.1 -1.0 -1.9 =29
82y —rx R 2k ar | SW2502Se 3.3 2.2 1.1 45 -11 =22 -3.3




+3 +2 +1 | EpeE | -1 | -2 -3
10. FR_RUANN—H =T )L
81y —rx A5 1®7var | RW1SqlSe 2.1 1.4 0.7 3.3 -0.7 -14 | -21
81y —rx A5 2 w7 a | RW1Sg2Se 2.5 1.7 0.8 3.7 -0.8 -17 -25
82y —rx R 17V ar | RW2SqlSe 2.9 1.9 1.0 4.1 -1.0 -19 | -29
82 —ox R 2 w7 a | RW2Sg2Se 3.3 2.2 1.1 45 -11 -22 | -33
11. T—F Iy
&1y —rx R 1 w7 ar | GWI1SqLSe 2.1 1.4 0.7 3.3 -0.7 -14 | -21
&1y —Jx R 2 w7 ar | GW1Sg2Se 2.5 1.7 0.8 3.7 -0.8 -17 -25
B2 —Jx R 1 wsvar | GW2SqlSe 2.9 1.9 1.0 4.1 -1.0 -1.9 -2.9
B2 —Jx R 2 wrvar | GW2S(2Se 3.3 2.2 1.1 45 -1.1 -22 | -33
12. X7
w1 —TxL R K11Sq 1.4 1.0 05 2.2 -0.5 -10 | -14
B2 — TR K12Sq 15 1.1 05 2.4 -0.5 -1.1 -15
B3I —Tr R KI13Sq 1.7 1.2 0.6 2.6 -0.6 -1.2 -1.7
WA — TR K14Sq 1.9 1.2 0.6 2.6 -0.6 -1.2 -1.9
BEL— TR KI15Sq 2.1 1.3 0.7 2.8 -0.7 -13 | -21
WEL—TrL R K165q 2.2 1.4 0.7 3.0 -0.7 -14 | -22
13. o ¥ —R N h
&1y —rx R 17 ar | YP1SqlSe 2.1 1.4 0.7 3.3 -0.7 -14 | -21
&1y —rx R 2 wsvar | YP1SGRSe 2.5 1.7 0.8 3.7 -0.8 -17 -25
B2 —rx R 1wsvar | YP2SqlSe 2.9 1.9 1.0 4.1 -1.0 -1.9 -2.9
B2 —Jx A8 2 ws Ay | YP2Sq2Se 3.3 2.2 1.1 45 -1.1 -22 | -33
14. IAVI AT
w1 —TxL R QS1Sq 2.1 1.4 0.7 3.3 -0.7 -14 | -21
B2 — TR QS2Sq 2.5 1.7 0.8 3.7 -0.8 -1.7 -25
B3I —TrL R QS3Sq 2.9 1.9 1.0 4.1 -1.0 -1.9 -2.9
WA — TR QS4Sq 3.3 2.2 1.1 45 -1.1 -22 | -33
15. ZA4V AT
&1 —rx A8 1 s ay | FS1SqlSe 2.1 1.4 0.7 3.3 -0.7 -14 | -21
B 1L —Jx A8 2 ¥say | FS1Sq2Se 2.5 1.7 0.8 3.7 -0.8 -17 -25
B2 —Jx R 1w/ ay | FS2SqlSe 2.9 1.9 1.0 4.1 -1.0 -1.9 -2.9
82— xR 2 ¥/ ar | FS2502Se 3.3 2.2 1.1 45 -11 -22 | -33
16. XYRF 7L
1L —Jxl R PD1Sq 2.8 1.9 1.0 4.4 -1.0 -1.9 -28
B2 — xR PD2Sq 3.6 2.4 1.2 5.2 -1.2 -24 | -36
B3I —TrL R PD3Sq 4.4 2.9 1.4 6.0 -1.4 229 | -44
17. VN
w1 —TxL R RH1Sq 2.1 1.4 0.7 3.3 -0.7 -14 | -21
B2 — TR RH2Sq 25 1.7 0.8 3.7 -0.8 -1.7 -25
B3I —Tr R RH3Sq 2.9 1.9 1.0 4.1 -1.0 -1.9 -2.9
WA — TR RH4Sq 3.3 2.2 1.1 45 -1.1 -22 | -33
18. FxF ¥z 7 7—F
1L —Jxrl R CC1Sq 4.2 2.8 1.4 6.7 -1.4 -28 | -42
B2 —JrL R CC25q 6.6 4.4 2.2 8.9 =22 -44 | -6.6




+3 +2 +1 | EmE [ 1 -2 -3
19. I R—P N
1L —r=r A8 1 sar | SS1SqlSe 2.1 1.4 0.7 3.3 -0.7 -14 | -21
1L —J= A8 2 ksar | SS1Sg2Se 25 17 0.8 3.7 -0.8 -17 | -25
B 2L —J= A8 1 ks ar | SS25qlSe 2.9 1.9 1.0 4.1 -1.0 -19 | -29
B2 —J= R 2 /Ay | SS2502Se 3.3 2.2 1.1 45 -1.1 -22 | -33
20. Z =2
B1L—JL A TA1Sq 4.2 2.8 1.4 6.7 -1.4 -28 | -42
B —JTL A TA2Sq 6.6 4.4 2.2 8.9 -2.2 -44 | -66
21. TV F o2
1y —r= A8 L svar | AT1SqlSe 2.1 1.4 0.7 3.3 -0.7 -14 | -21
51y —r= Af 2w svar | AT1Sq2Se 25 17 0.8 3.7 -0.8 -1.7 | -25
B2y —r= Af L svar | AT25q1Se 2.9 1.9 1.0 4.1 -1.0 -19 | -29
B2y —J= Af 2w var | AT2S02Se 3.3 2.2 1.1 45 -1.1 -22 | -33
2. Zoda<wFh
B1v—r= A8 L ¥rvay | TR1SqLSe 2.1 1.4 0.7 3.3 -0.7 -14 | -21
B1v = A8 2w ay | TR1SQ2Se 2.5 17 0.8 3.7 -0.8 -17 | -25
B2y — = A8 L wrvay | TR2SqLSe 2.9 1.9 1.0 4.1 -1.0 -19 | -29
B2y — = A 2w Ay | TR2S02Se 3.3 2.2 1.1 45 -1.1 -22 | -33
23. 7 )L—RA
B1—JxL R BL1Sq 2.8 1.9 1.0 4.4 -1.0 -19 | -28
B2 —JxL A BL2Sq 3.6 2.4 1.2 5.2 -1.2 24 | -36
B3I —JxL R BL3Sq 4.4 2.9 1.4 6.0 -1.4 29 | -44
24. IR FART —R
1L —r= A8 1 s ar | MB1SqlSe 2.1 1.4 0.7 3.3 -0.7 -14 | -21
1L —J= A8 2 ks ar | MB1Sg2Se 25 17 0.8 3.7 -0.8 -17 | -25
2L —J= A8 1 s ar | MB2SqlSe 2.9 1.9 1.0 4.1 -1.0 -19 | -29
B 2L —J= A8 2 ks ar | MB2Sg2Se 3.3 2.2 1.1 45 S1.1 -22 | -33




3. VIR R DOMER E

| +3 | +2 | +1 | EmeE | -1 | -2 | -3
IRB— B AEFH
PRE— R AT 1CC1 18 12 06 32 | -05 ] -10 | -15
e s 1CC2 18 12 06 38 | -05 | -10 | -15
:j [N
Tx Ty 77—k 1CC3 18 | 12 | 06 | 44 | -05 | -10 | -15
BIvau icca 18 12 06 50 | -05 | -10 | -15
IRE—L K AER 2CC1 18 12 06 32 | -05 | -10 | -15
F TP T 2CC2 18 12 06 38 | -05 | -10 | -15
—tz;‘ JV 2CC3 18 12 06 44 | -05 | -1.0 | -15
VA2 2CC4 1.8 12 06 50 | -05 | -10 | -15
RE— LK AR 1RH1 18 12 06 32 | -05 | -10 | -15
e 1RH2 18 12 06 38 | -05 | -10 | -15
/
Ve 1RH3 18 | 12 | 06 | 44 | -05 ] -10 | -15
Y= RHL 1RH4 1.8 1.2 06 50 | -05 | -1.0 | -15
B AR
2 Spl 18 12 06 26 | -03 | -07 | -1.0
Sp2 18 12 06 36 | -05 | -10 | -15
Sp3 18 12 0.6 46 | -05 | -1.0 | -15
Sp4 18 12 06 56 | -05 | -10 | -15
2L R ar AP CoSpl 18 12 0.6 26 | -03 | 07 | -1.0
CoSp2 18 12 0.6 36 | -05 | -10 | -15
CoSp3 18 12 0.6 46 | -05 | -1.0 | -15
CoSp4 18 12 0.6 56 | -05 | -10 | -15
AR T |
ZF AL aFY—UTR Stalil 18 12 06 20 | -03 | -07 | -1.0
StalLi2 18 12 0.6 30 | -05 | -10 | -15
StalLi3 18 12 0.6 40 | -05 | -10 | -15
StalLi4 18 12 0.6 45 | -05 | -10 | -15
ZR—FSALUT R SILil 18 12 06 20 | -03 | -07 | -1.0
SILi2 18 12 0.6 30 | -05 | -10 | -15
SILi3 18 12 0.6 40 | -05 | -10 | -15
SILi4 18 12 0.6 45 | -05 | -10 | -15
H—F YT CuLil 18 12 06 20 | -03 | -07 | -1.0
CuLi2 18 12 0.6 30 | -05 | -10 | -15
CuLi3 18 12 0.6 40 | -05 | -10 | -15
CuLid 18 12 0.6 45 | -05 | -10 | -15
H—F—aF AUTT RoLil 18 12 06 20 | -03 | -07 | -1.0
RoLi2 18 12 0.6 30 | -05 | -10 | -15
RoLi3 18 12 06 40 | -05 | -1.0 | -15
RoLi4 18 12 06 45 | -05 | -1.0 | -15
a ' x—aryy7k A R—va V7 MR FERfS I 2 FHO T a— 7 ho S EZ N LT
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